MAC 2313 - Period: Name:
Quiz 8
April 18, 2019

KEY

Show your work to earn full credit.

1. Use Green’s Theorem to evaluate the line integral f (e* +2%) dz + (¥ — z3?) dy where C
is the circle 22 + y* = 25 oriented clockwise. (4 poinis)
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2. Set up and evaluate a double integral for the area of the surface 2 + 32 = 64 that lies between
the planes z =0 and z = 4. (4 poinis)
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Problein References: e
1. MAC2313 L30 W Problem #14. Answer: [ (¢*F + z%y) dr+ (e —zy%) dy = %w.
c

2. MAC2313 L31 HW Problems #11 and #12. Auswer: fg" f&'B dz df = Gl



